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This question paper contains of THREE sections and you have to answer all questions in the
OMR answer sheet. Section "A" Mathematics contains 50 questions of 3 marks each,
Section “B” GK and ‘C’ Language contains 25 questions of 2 marks each respectively.
Section C is Language specific and is to be attempted in the chosen language.

2. 9% 97 - || (SIRF e ) F v uead § | wear un & € & A @ FAew | 3adr g & Ieaw 36
MAEHIR (OMR) 3ca7 97 & & for@ar ¢ | Question paper - 1l ( Intelligence Paper) Contains 25

questions. The question paper will be given after 2 hours. Answers for paper |! are also to be
written in the same OMR answersheet.

3. Y3F WeA @ FAT UH W IoaW 2 vDAF W F 3caw F A0 Faw e er @ R e uw @
ST M F 9T @ HU @ T F Ica] Tedad A ST There is only one correct answer for each

question. Darken only one bubblie for each question. If you darken more than one bubble, your
answer will be treated as wrong A

4. 3 A IR 3R IFaE (OMR Answer Sheet) Fo¥ex & zarr Sl snwll waweh s & 39
3 qRaH A Fig IR SEl P ar e SR g sERTEaaE A ol AR, ey S8 Sier ad
Sl

Evaluation of OMR answer sheet will be done on a computer. Be careful and ensure no un-

necessary marks on the OMR answer sheet/ fold or attempt to deface the OMR answer sheet,
otherwise it will not be evaluated.

5. 3% &4 WA 9T & WY o welr goat F &+, 7 fr 3w g 7 |
Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

6. HUAT 3cax el AT Al HATEr arel U A & #¥ | d@er &1 93T 7 H¢ |
Write your answers in Blue/Black ink only. Do not use pencil.

7. FaX Y55 H AT FW, W U 99 H FA 24 755 § |
There are total 24 pages in the question paper.
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SECTION A - MATHEMATICS

If the square of a number is added to the square of 28 the result is 1808.What is the
number?
(a) 66 (b) 50 (c) 32 (d) 16

U HTAT & T91 7 28 &7 T SAlsa 9 1808 HTAT & 198 HEAT FT 8192
(a) 66 (b) 50 (c) 32 (d) 16

If area of rectangular garden of 5m breadth is 300 sg. m, then what will be the length of
garden?

(@) 60m (b) 70m (c) 80m (d) 90m

5 #FHie TlET HAATHR 35T HT 8176 300 T AT 8, ar Foird & ars Far grf?

(a) 60 HX (b) 70 #F X (c) 80 HeX (d) 90 #Hex

A man covers a distance of 40km.He covers first 10km at 10km/h, second 10 km at
20km/h, third 10km at 30km/h and last 10km at 40km/h. What is the average speed of
man?

(a) 18.2 km/h (b) 19.2 km/h (c) 19.0 km/h (d) 16.2km/h
Te cafard 319+ 40 fRe. & ImET 7 gga 10 e 10 e, gfaeer & aifd & au swar ¥1g@Y 10

fRaY. 20 s ufey ger fr afa @, St 10 Tt 30 Fed. ufcrger & a1fd & 3t 3maily 10 BFadt.
40 Tpe. gfdger fr afy @ ag Fxar g iaFa & aa afa w=ar g?
(a) 18.2 el ufaeer b) 19.2 fFehulager () 19.0 et ufdeer (d) 16.2 [ gfager

The average weight of 6 boys gets increased by 5kg if a boy with weight 20kg is
replaced by a new boy. What is the weight of new boy? '

(a) 41kg (b) 50 kg (c) 65kg (d) 49kg

6 ! 7 A TF 20 el I HR e T8 i AT F 3US T W U AT A5 & @A &
T 3T AR 5 ) 9¢ TAT] AT 5 H TR FAT 872

(a) 41 frarms (b) 50 FFaranH (c) 65 frettarms (d) 49 Treams

A table was purchased at Rs 1000 and was sold at Rs 800.What was gain or loss% in
this transaction?

(a) 5% (b)10% (c) 20% (d) 30%
U edel 1000 T 9T WET 3147 3R 800 TIA YT ST I1AT ATISH edcsT 3 o187 AT gIfais Far a41?
(a) 5% (b)10% (c) 20% (d)30%

A milkman has two cans of milk containing 75 litres and 45 litres of milk respectively.
What will be the measure of largest vessel that can measure the milk of the two cans
exactly? ;

(a) 12 litres (b) 18 litres (c) 15 litres (d) 10 litres
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U g aTel Y U Thl A 75 e T gt Eohr 7 45 Sl g &1 98 31 @ 31 AT9 41 gl Sy
aYeit EfraT T qU-9I g AT Th?
(a) 12X (b) 18 &N (c) 15eeX (d) 10X

What is the least multiple of 23 which when divided by 18, 21 and 24 leaves remainders
7,10 and 13 respectively?

(a) 1240 (b) 3013 (c) 2364 (d) 7628
23 T XHT HE YT I[OTS o 18, 21 3 24 F 8197 & AR 7, 10 AR 13 AV T & I§ 87
(a) 1240 (b) 3013  (c) 2364  (d) 7628

Four clocks rings at the time interval of 6s, 8s, 12s and 18s respectively. If they ring
together at 12 am then how many times will they ring together within the time span of 6

* minutes?

(a) 6 times (b) 4 times (c) 7times (d) 5times

ar gf3ar 6, 8, 12 3R 18 AUz F I W Foidll ¢ 1378 I TRE To1 T WY T571T YRA Fch 6 dl 6
fAsT & 3ieY ag fhdeil I- U |1y aoi9i1?

(@) 6 R (b) 49X (c) 7ER (d) 58X

The LCM of two numbers is 28 times of their HCF.The sum of their LCM and HCF is 1740.1f one
number is 240 then what is the other number?

(a) 420 (b) 460 (c) 500 (d) 380
2 FEATHT T A.H. 3ot H.F. T 28 T[T §|3eeh o.9. 3R A4, &7 AT 1740 § 3R 3aH7 F 0
HEAT 240 ¢ A @Y HEAT AT HI?

(a) 420 (b) 460  (c) 500  (d) 380

Ashu takes 12 days to complete the work. Pranav takes 10 days to complete the same
work. Ashu, Pranav and Ramu take 5 days to complete the same work. How many days
will Ramu take to complete the same work?

(a) 70days (b) 90 days (c) 60days (d) 50 days

31T U 1A I 12 T 7 &0 Fehal §1991d 36 73 1 10 a7 3 T TRl § 13719, YOI Td T,
At AT 3@ 1A #1 5 R A QU Fa § o T 39 F1A Ht fhda a1 7 :en?
(a) 70 =¥ (b) 90 =T (c) 60 f&= (d) 50 =

U fearit @ v3e Y 9& F ded &9 F IOT F AT | FHS IeaX IWA 3k ¥ e
B 1

A student multiplied 7236 by 65 instead of multiplying by 56. By how much was his
answer greater than the correct answer?

(a) 87555 (b) 65124 (c) 72360 (d) 65000
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Simplify: 1+{Z + > + = (4 3)}

30 37 15 15

(@) 33 035 €37 35

s f -aﬁ"r : ; i Ilcm I
Find the perimeter of the following figure .
(a) 15¢cm (b) 15cm? (c) 16cm  (d) 25cm? 0.5cm

TF FA H AT 9 A X y A | TN U q9 Frollel foraehr osm 3 A g 39 o 13w

TR FT STFA AT DIord ford U Fralad Far @oT

A floor is 5 m long and 4 m wide. A square carpet of side 3 m is laid on the floor. Find
the area of the floor that is not carpeted.

(@) 21m? (b) 29m? (c) 11m?2 (d) 21cm?

TF Gotel 91 & Hed X t¢o § AR ¢ 91 91 &7 {eF X 98 Bl 99 F HeT F Fod &
AT A e Ad HfS |

Cost of a dozen pens is X 180 and cost of 8 ball pens is ¥ 56. The ratio of the cost of a
pen to the cost of a ball pen is?

(a) 15:7 (b) 180:56 (c) 1:1 (d) 8:15

TH TF A 9’8 km Taal W to¢ fAT Sl 91T §. 2890 km Hr gl aF = 7 fhaa X
AT T |

A truck requires 108 litres of diesel for covering a distance of 594 km. How much diesel
will be required by the truck to cover a distance of 1650 km?

(a) 3000 litres (b) 108 litres (c) 300 litres (d) 165 litres
HALT X gooo FH by 2/% AN ST A X & 3 a¥ & GAT A WYUROT &S A1 Ao

Find the simple interest on ¥ 5000 at the rate of ?i%for a period of 3 years

(a) 5000 (b) 6125 (c) 2000 (d) 1125

- el Bo[s & 0T 203 F IFUT H § FION F AW A HIiS

The angles of a triangle are in the ratio of 1:2:3.Find the values of the angles

(a) 30,60,90 (b) 15,45,120 (c) 60,60,60 (d) 45,45,90
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UF WEAT CEY WEAr ¥ 36 HVF ¥ | 30K et F A we ¥ A wEwr aasv |
One number exceeds another number by 36.The sum of numbers is 48 then the
numbers are

(a) 40, 08 (b) 36, 12 (c) 42, 06 (d) 32,16

e wag gt & Q& g8 & €T F POT Q@ HS FOT F WK Far ¢ |

At which one of the following times is the angle between the hands of a clock exactly
one straight angle?

(a)12 AM (b) 12 PM (c)9.15AM (d) 6AM

ag T DI TTAT JAN §,83,%¢ & 9T gIar & |
Find out the smallest number which is divisible by 6, 12, 18

(a) 360 (b) 180 (c) 120 (d) 60

ﬁmaﬁwﬁ#ﬁawww@a@ﬁaﬁwﬁmﬁw%l
Which of the following measures of angles given can be those of a isosceles triangle

(a) 90,45 (b) 60,30 (c)120,40 (d) 90,50
TF FEAER B FarS SEE e ¥ o 9 ST § | 3R SuET ORAT vo Fe & A 3w
& nd fhaem & | :

The length of a rectangle is 5 cm more than its breadth. If the perimeter of the rectangle
is 50cm than what is the area.

(a)150 cm? (b) 250 cm? (c) 900 cm? (d) 800 cm?

wa’mwm-ﬁwﬁtaﬁﬁqgraﬂﬁ?!mma#?omﬁmﬁﬁ?ﬂ'#waﬁmﬁm

12 persons can finish a piece of work in 15 days. In how many days will the same work
be completed by 20 persons?

(a)15 days (b) 9 days (c)30 days - (d) 20 days -

&Y FHIST EEAT & A.9.9. e giar ¢ |
The LCM of two prime numbers is
(a) difference/3iaX (b) product/Aurawer (c) sum/ANET (d) none of the above/sa® & Hi§

Cil

UH THeT & fooo TEI H F 330 §H ¥ I g, ¥oo Y I3 § AR I BET A IA*
A T 9Y5a § Iehd & fhde gfaea o a9 & a6 3 ¥ |
In a School of 1000 students, 330 come by bus, 400 come walking and the remaining

are dropped by parents. What is the percentage of students that do not ride the bus to
school.

(a) 67% (b) 27% ©50% (d)33%
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U ¢ VU H & VU § o &1 ere et 7 g &1 002 e 6 v gaer afa @
W A ¢, 96 RIS & W Teh el &l ¢ T ar9d 30 ¢ 1 58 G I i Fa A
38 fhdelr AT 91T g (FeUT 3 F TI § aF AR T amga) |

A train from Station A to Station B covers a distance of 616km at a uniform speed of
112km/hr. It Halts at Station B for 1 hour before starting back. How much time will it
take to complete the journey and reach back to Station A (i.e. from A to B and back)

(a)11 hours (b) 12 hours 45 minutes  (c)12 hours (d) 5 hours 30 minutes
TS T HY 6% F FFEA W I 3¢ F FA1 IAT | 3HH AR Hed A Hirod |

A table was sold at 16% loss for ¥ 3360.Find the cost price of the table
(a) ¥ 4000 (b) ¥ 3392 (c) X 3600 (d) ¥ 4296

WA A WFNEAFMATI RN T @SS qoa ot § IR & F Ao
ot Rae AAITRA MM I @ FRACFE IR A a § & so9 & [T st &
Rag aRe

There are 17 rooms in a school, every room has two fans and four LED bulbs. How
many switches are required for the school if every fan requires a switch and one switch
is required for every two bulbs?

(a) 34 (b) 68 (c) 102 (d) 17

& HEAT FT IOAGA .99 § 13 § TF IR v.&R § A gull wd A |

The product of two decimal numbers is 12.194. If one of them is 4.69 what the other
number is?

(a) 7.6 (b) 2.6 (c)9.8 (d) 4.8

Tgel & T FHT X €oo H WA AN X 00 IHH AWHT W A | T/A 30 FI BT tooo
# a9 &, ar 3@

Rahul purchases a chair for ¥ 600 and uses X 200 for repairs. If he sells it for ¥ 1000
then he has:

() no profit no loss/er 5T ¥ &I (b) 25% loss/gTY

(c) 25% profit/amst (d) cannot be calculated/sToraAT AT Fr IT Fhclr

Rod e RATFamam sy B Prar @ 13 g f PRee s acdfr a s @ o
T to Rt F argAE fhaer B e |

The temperature dropped 15 degree celsius in the last 30 days. If the rate of
temperature drop remains the same, how many degrees will the temperature drop in the
next ten days? ' :

(a) 10 degrees ~ (b) 5 degrees (c) 20 degrees (d) 15degrees

IH A HY ART F A S« F aF WS A O v vaeer Aen, 59 A7 q a3 @er ar
&Y TR, 99 IR UR & @A1ar ar 9 v, S99 Ui 9w e @er ar 9% v, J9
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a:a:mmaqﬁwlmwmmmﬁma@wmaﬁﬁnm
A Hr AR A FH VY FA g 317 T

From a basket of mangoes when counted in twos there was one extra, counted in
threes there were two extra, counted in fours there were three extra, counted in fives
there were four extra, counted in sixes there were five extra. But counted in sevens
there were no exira. At least how many mangoes were there in the basket?

(a)119 (b) 110 (c) 111 (d) 126

HIAAT & 3 HT JEAT I W F ST A ¢ al 3TF A Hr TR IA @ A 8, AT
Hfo | ' _
Which of the following two digit number when added to 27 gets reversed?

(a) 27 (b) 24 (c) 47 (d) 70

qur Y T AT F HAAA 629 § | IR A FHA A Qo00 FUIH § A SHR HAGAT I
fraer g |

The ratio of income to expenditure of Radha is 7:5. If she saves X 2000 a month, what
is her annual income?

(a) ¥ 144000 (b) ¥ 60000 (c) ¥ 95000 (d) T 84000

U OISR HHR & dled H da5 G581 39d 319 § | 39 915 o9 § T 300 &
TI A E I 9T A & X A 3T ol A RAFRT = W, T o gfd @ & A T Q,
fraer Tat 3meer | '

The ratio of the length to breadth of a rectangular lawn is 3:5. It costs ¥ 3200 to fence it

at the rate of ¥ 2 a meter. What would be the cost of developing the lawn at the rate of
X 10 per square meter?

(a) ¥ 18,00,000 (b) ¥ 15,00,000 (c) X 19,00,000 (d)X 21.,00,000

A, B 3R C TF IHHA &I 9T A Yo% F Heuld # died & | 3P B & FEar T VAR &
ar ot @A A fS |

A, B and C divide an amount amongst themselves in the ratio of 4 : 7 : 9 respectively. If
B's share in the amount is ¥ 2989 what is the total amount.

(a) X 9820 (b) X 8540 (c) X 2720 (d) ¥ 8640

U FET F yo BEl H AT I t¢ ¥ ¥, I UF JANS F FEAfOT fRAT ar § ar
3T Y 2R a¥ gl S § 1 e iy 3y el |

The average age of a class of 40 students is 18 years. When the teachers age is also
included to calculate the average age becomes 19 years. What is the teacher’s age?

(a) 59 years (b) 69 years. .- (c) 49 years 7 {d) 39 years ¢
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What is the greatest number which when divides 3026 and 5053 leaves remainders 11
and 13 respectively?

(@) 15 (b) 30 (c) 45 (d) 60

IE 21 W 931 HEAT FiT W § FEH 3026 TUT 5053 HY AT &1 9T FHAA: 1 TYUT 13 AT T ?

(@) 15 (b) 30 (c) 45 (d) 60

Ravi purchased a chair at Rs 500 and sold it at Rs 550.What was his gain or loss
percent?

(@ 10% (b) 20% (c) 30% (d) 40%

TRa=Y 500 T9 T FT WY IR $H 550 TUL T ST|SHAT 137 A7 g1y Gievere &1 417

(@ 10% (b) 20% (c) 30% (d) 40%

A certain distance is being covered in 28 hours by walking with a speed of 5km/h. If the
speed is increased by 2 km/h then in how much time the same distance will be
covered? '

(@) 30 hours (b) 15 hours (c) 20 hours (d) 25 hours
5 T afr ger i a1fa & olet 9X fondl gdt &t 28 ©e # 1 fonar ST Fenlm o1 Afe aifey 2 T, afar

HeT 91 &1 ST 6l Tg gl hcd §85d # G g1 smeeh?
(@) 30E¢ (b) 1589¢ (c) 208¢  (d)25€C

A piece of wire 7/8 meter long broke into two pieces. One piece was 1/4 meter long.
How long is the other piece?

(a) 4/8m (b) 5/8m (c) 6/8m (d) 7/8m

AR &1 T DY 7/8 T wiar ar AT A T A5 | U AT 1/4 HieX el A igud 9y Recst o7t 872
(a) 4/8 HT (b) 5/8 # X (c) 6/8 AEX (d) 7/8#X

What is the missing number in the sequence 2, 5, 10, 14, 18, 23, 26, 32. ..7

(a) 33 (b) 34 (c) 36 (d) 37

4ot 2,5,10,14,18,23,26,32,...H Tt & FAT ¢ ?

(a) 33 (b) 34 (c) 36 (d) 37

30 men can do a piece of work in 16 days. In how many days 8 men can do the same
work?

(a) 30 days (b) 40 days (c) 50 days (d) 60 days

30 3T R FeT Y 16 &7 & FATST I £ 1 8 3T v e & §aAeT X @& 87
(a) 30f&T (b) 40f@sT (c) 50 (d) 60FR=A

Ram, Shyam and Mohan runs at speed of 75,50 and 30m/minute respectively. After
how much time will they meet together for the first time running with the same speed?

. (a) Shours (b) 2 hours (c) 3hours (d) 5/2hours

A, QUTH, AYgsT HA: 75, 50 T 30 muuﬁ“rmﬂéaﬁramaalga%ldsﬂquﬁrma?
fordeT ST a1 39w H fAchr 2
(a) 5% (b) 2 (c) 3EE (d) 529
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Represent 26kg 5 gram using concept of decimals.
(@) 26.05kg (b) 26.005kg (c) 26.5kg (d) 26.0005kg

ZAAAT FT HEUTIUT T 3YTRT HT 26 fohalr 5 A1 & Ffafaitea @i
(a) 26.05f@FciH (b) 26.005fFcEmeT (c) 26.5fFaRIF (d) 26.0005 FFaEA

At what rate. a sum of Rs 6000 will amounts to Rs 7800 in 5 years?

(@) 3% o) 4%  (c) 5%  (d) 6%

g 2T 9T, 6000 T9A Hr ufr 5 Frer F 7800 9 arf?
(a) 3% (b) 4% (c) 5% (d) 6%

What will be the depth of a cubical pond whose volume is 729m3?

(a) 9m (b) 6m (c) 8m (d) 5m

39 Yol ST it 1S fhast gl g 3maasr 729 a7 #ex 82

(a) 9#HRX (b) 6#HEI (c) 8#HEX (d) 5#EI

Evaluate

3x7 + 4-6 + 3-7 + 45 + 5x4 + 49

(a) 101 (b) 103 (c) 99 (d) 35
Hediwa HY '

3x7 + 4-6 + 3-7 + 45 = 5x4 + 49

(a) 101 (b) 103 (c) 99 (d) 35

In what time a train whose length is 100m moving with a speed of 60km/h crosses a
platform whose length is 150m?

(a) 15s (b) 14s (c) 18s (d) 20s

60 fraT. ufa et iy & o W o7 oradhy Fars 100 e § v 150 Hied o woewd i fFaa
AT A 9R T F9?
(a) 15 dFvs (b) 14 @Hvs ic) 18 Y&vg (d) 20 T%vs
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HETE - HIATT AT
SECTION B - GENERAL KNOWLEDGE

Which among of the following is not an Indian Sport?

(a) Kabbadi (b) Kho-Kho (c) Hockey (d) Rugby
gaat @ i A1 IR Qe AT £72
(a) wagST (b) Tr-B (c) glehr (d) Tt

Who is known as ‘Iron man’ of India?
(a) Jawaharlal Nehru (b) Mahatma Gandhi
(c) Sardar Patel (d) Subhas Chandra Bose

R & SETEY & 9 7 Pl AT ST &7

(a)STaTEReTel AE® (b)FrgTeAT et

(c)ETE qee (d)gey T A

Deficiency of lodine causes?

(a) Goitre  (b) Malaria (c) Cataract (d) Scurvy

AT T FHT F Hia-a1 AT glar g7
(a) HET (b) FARET (c) Aifaafee (d) Tt

Hirakund dam is built on the river?
(a) Cauvery (a) Mahanadi (a) Krishna (a) Sutlej

BRI $3 STY o AT IR SA1T I1AT &7 |
(a) T (b) FgTTRY (c) Fsom (d) HeTeTst

1024 Kilobytes is equal to?
(a) 8 Bits (b) 1 Megabyte (MB) (c) 1 Gigabyte (GB) (d) 1 Byte

1024 fhall S18C SR 87
(a) 8facw (b) 1AIMETST (THE) (c) t1¥eEmeTse (S (d) 1§18

151 11 11 = B ol Lol o - 2 i 300 £ 2 B o o v ST g

Those who study things that were made and used in the past these people are
called

(a)STrafa=imsir Biologist (b) RIcataar Archaeologists
(c) iA1=t Geologist (d) RfcaEs Doctor

A & TG easT AT WSS F AU HT 3T F:41 87
What is the ratio of width to the length of National Fiag of India?
(a) 4:5 (b) 2:3 (c) 1:1 (d) 5:6




58.

59.

60.

61.

62.

63.

64.

11

Where is Wagah-Border located?
(a) dirarer, wsEAE Longewala, Rajasthan (b) ®RE, #fOgT Moreh, Manipur
(c) =& & T, I Rann of Kutch, Gujarat  (d) 3ma%R, deiie Amritsar, Punjab

WA dR Teh (dIdR0) &R fasansit #r Frafafad @ @ 9 Bee RO 3¢ &
ek driRdt @ gEfaa fear awr ar?

Out of the following list of Param Vir Chakra(PVC) Awardees who was awarded with
PVC during Kargil War?

(a) AfFeeie Foter FERR Foifsl ARG Lt Col Ardeshir Burzori Tarapore
(b) 2 / ATFeaAT HTOT @?{Wl?{ 2/Lt Arun Khetarpal

(c) Fear fasher 31 Capt Vikram Batra

(d) ASR \rAATYT AT Maj Somnath Sharma

frfafEa @ 4 fha 5T @ d&pd @ JrfasRe st & @ s & &9 H

3YATT 87
Which state among the following has adopted Sanskrit as its one of the official
1anguages?

a) gATae 9 r Himachal Pradesh (b) 3car@s Uttrakhand

(c) TSEATH Rajasthan (d) 3ca¥ Weer Uttar Pradesh
AR & TIATA SIS Hier &2

Who is the current Vice-President of Incfia.?
(a) #r @ A Shri Narendra Modi  (b) #T d&=ar &g Shri Venkaiah Naidu
(c) #T 31¥OT Acelr Shri Arun Jaitley  (d) 2t I AT Fifdg Shri Ram Nath Kovind

gTgr 3R 39T SARAT J [™BAvAar @ arer v Rfcada Rfecas|

A medical practitioner specializing in children and their diseases
(a) 3tef@ee Geologist (b) fEx3fA3= Paediatrician

(c) AT Cardiologist  (d) =gR@lforee Neurologist

ARt & v wag & FAT Fer AT 67

A group of stars is called a

(a) |t gumelr Solar system (b) Constellations stz
(c) 71§ Planets (d) eFeRq Comets

3 Bl W HlT A A IHAR W ek 96 F T A AT ST g2

Which gas when solidified is commonly known as Dry ice?
(a) FraT AN3FETSS Carbon monoxide (b) ATsEH 3iTFATSSNitrous oxide
(c) FIdaT BT83iFAES Carbon Dioxide  (d) &T38TsteT ORIFATESHydrogen peroxide
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TSI T & HeEd! &1 AOHan e haar g aar §

The members of the Rajya Sabha can have a maximum tenure of how long?
(a) ura wrer Five years (b) & @ Six years

(c) ot el Seven years  (d) & @rer Two years

&t arfreie e WeT & g7 g3 R7
P Gopichand is associated with which Sport?
(a) ¥sfdesr Badminton (b) fesse Cricket

(c) geafer Football (d) g7 Hockey

Arafaf@a & & @l A FT A Agr I 87
Which of the following company does not sell mobiles?
(a) ¥eger Apple (b) srwauaTa BSNL (¢) vadfiHP  (d) &= Sony

S 3R 9l W AT FRA H GEH Uk aTeA Bl FAT Hel SAar o7?
A vehicle capable of travelling over land and water is called

(a) @YaR@roe Hovercraft (b) AaIFIFE Rovercraft
(c) AratshFe Mowercraft (d) I Car

RT WHFR & 3Haler FdwH i SWHTT FA arell AT By §2
The space programme of Government of India is looked after

(a) ITSTHEIET ISBT (b) THEIFRAT NTRO
(c) AiTaTS NABARD (d) 38T ISRO

R AT HT IS areFg &
The Motto of the Indian Navy is
(a) W4T Hafca# Y& Sarvatra Sarvottama Suraksha

(b) & @Y ¥oT: Sham No Varuna
(c) dar 3 fads Valour and Wisdom
(d) ¥37: ¥92f e Nabha | Sprsa | Diptam

Which is the largest gland in human body?
(a) Salivary gland  (b) lungs (c) liver (d) stomach

AT R A gad 981 Ty Fia-dr 8?2
(a)oRA  (b)HwH3 ()R (d) ¥

Who has written ‘Sare Jahan Se Achchha'?
(@) Rabindra Nath Tagore (b) Bankim Chandra Chatterjec
(c) Muhammad Igbal (d) Subash Chandra Bose
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R STET & Ieor Mid s o 82
(a) WeerA &M (b) dfeFarels Tl (o) HEF31G goharel  (d) Y T

73.  Which is the deepest ocean?

(a) Indian Ocean (b) Arctic Ocean (c) Antarctic Ocean(d) Pacific Ocean

[ T AR HiA-AT &2 _

(a) éT ABRNR (b) HThee HETARR (c) 3erhies AGRINK (c) Ylid AR
74.  Who fixes the salaries and the allowances of the Speaker of Lok Sabha?

(a) Council of Ministers (b) President (c) Parliament (d) Judge of Supreme Court

farafaf@a &7 & S o g9 & Tex & 3aa AR Hed i 8k FIar 82

(a) ARTT T aRwg (b) Isgafa (c) TS (d) g FIE & =araree
75.  Which article of constitution provides Indian citizen ‘Right To Equality’?

(a) Article 12 (b) Article 13 (c) Article 17 (d) Article 14

AT T Rl-HT TG HREART ARTRE P UHTAT 7 JUFR TSI T 67

(a)37Tede 12 (b)3rgede 13 (c)3rgede 17 (d)3igede 14

SECTION C - LANGUAGE
(Only for those attempting English Language)

76.  Did you apply this post? (Supply the correct preposition)

(a) To (b) At (c) For (d) Of
77.  You should take care your health (supply the correct preposition}

(a) Of (b) In (c) At (d) To
78. Heisrich he is not happy (supply the correct conjunction)

(a) Yet (b) Though (c) Because (d) But
79.  Work hard you will fail (supply the correct conjunction)

(a) Or (b) Still (c) Because (d) Either
80. The child ____fortwo hours (select th#e correct form of verb)

(a) Has been sleeping (b) Have been sleeping

(c) Has slept (d) Will sleep
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Read the following passage and answer the questions (Question 81 to 85).

From far out in space, Earth looks like a blue ball. Since water covers three-fourths of
the Earth’s surface, blue is the colour we see most. The continents look brown, like small
islands floating in the huge, blue sea. White clouds wrap around the Earth like a light blanket.
The Earth is shaped like a sphere, or a ball. It is 25,000 miles around! It would take more than
a year to walk around the whole planet. A spaceship can fly around the widest part of the
sphere in only 90 minutes.

~ Even though spaceships have travelled to the Moon, people cannot visit the Moon
without special suits. The Moon has no air or water. Plants and animals can't live there either.
Astronauts first landed on the Moon in 1969. After that, there were six more trips to the Moon.
They brought back Moon rocks, which scientists are still studying. There are holes, or craters,
all over the Moon'’s surface. Scientists believe that meteorites smashed into the Moon millions
of years ago and formed the craters.

The Sun is the closest star to Earth. A star is a hot ball of burning gas. The Sun looks
very big because it is so close. But the Sun is just a medium-sized star. Billions of far-away
stars are much bigger than our Sun. The burning gases from the Sun are so hot that they
warm the Earth from 93 million miles away! Even though the Sun is always glowing, the night
here on Earth is dark. That's because the Earth rotates, or turns around, every 24 hours.
During the day, the Earth faces the Sun. Then we see light. During the night, the Earth turns
. away from the Sun. Then it faces the darkness of space. Each day we learn more about the
Earth, the Moon, and the Sun

81. Why is blue the colour we see most when looking at Earth from outer space?
(a) Because most of the Earth is covered in land.
(b)  Because the Sun's rays make the Earth look blue.
(c) Because most of the Earth is covered in water.
(d) Because clouds wrap around the Earth.
82. What does ‘formed’ mean?

(a) hit
(b) made
(c) broke

(d)  stopped
83. What causes daylight on Earth?
(@)  The full Moon causes daylight
(b)  Daylight is caused by the Earth facing away from the Sun.
()  The heat of the Sun'’s rays causes daylight.
(d)  Daylightis caused by the Earth facing toward the Sun.
.84.  Which of the following sentences BEST describes the Sun?
(@) The Sun looks small because it is so far from Earth
(b)  The Sun is a ball of burning gases that gives the Earth heat and light.
(¢)  The Sun is a small star.
(d)  The Sunis not as hot as it looks.
85. Why did the astronauts bring rocks back from the Moon?
(a)  Because they didn’t know if they would.return to the Moon ever again.
(b)  Because the ' wanted to prove that they went to the Moon.
(c) Because they wanted to remember how the Moon looked.
(d)  Because they wanted to study them and learn more about the Moon.
Choose the most appropriate option given against each question.
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86. Which word means nearly the same as "scream"?

(a) find (b) stop (c)sell (d)shout
87. Which word means nearly the same as "happy"? )
(a) conditions (b) disgusted (c)content  (d)ambitious

Choose the appropriate options to complete the sentences
88. The men are working. Their ---- are at home.

(a) wife (b)husbands (c)husband (d)wives
89. Rahul works less ---- than Mohan.

(a)carefully (b) more careful (c)careful  (d)careful as
90. It---- all day long yesterday.

(a)was rained (b)raining  (c)rained (d)has rained

Rearrange the following words/groups of words to make meaningful sentences. Choose
the correct sequence given in the options.
91. quite happy / i was/ the first prize/ to receive.

A B C D

(a) BADC (b) ABCD (cc DCBA (d) BACD
92. protect/ we must/ natural resources /our.
A B C D

(@ ABCD (b) BADC (c) ACDB (d) DCAB

Choose the appropriate option to fill in the blanks:
93. One who leads an austere life

(a)  Ruler (b) Auditof (c)  Ascetic (d)  Carpenter
94. A person who presents a radio/television programme.
(a) Director (b)  Actress (c)+ Actor (d)  Anchor

95. 80. Pick the gender of ‘Lad’
(a) Lass (b) Queen (c)Woman (d)Dame

96. Choose the gender of ‘Fox’

(a) Filly (b) Goose (c) Witch (d) Vixen
97. always stood third in her class (supply the correct pronoun)

(a) You (b) They (c) He (d) She
98. All the candidates should bring own pen (supply the correct pronoun)

(a) Everyone (b) They (c) Nobody (d) Their
99. Experience is the teacher (supply the correct adjective)

(a) Better (b) Good (c) Best (d) Great
100. a beautiful scene it is ! (pick up the correct adverb)

(a) What (b) How (c) Always (d) Never
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T ‘o - sNi(Faa B sar F ofiew & e & v )

we F 39 e o Raeul # ¥ 3R fesw #71 gy S
76. mgraamﬁm J

(a) GEATAT (b) @&F (c) TaTsT (d) adeRif
fast g & A ) Radands sz (Raew) &1 9ga fifc:
77. @A

(a) quTT (b) wheT (c) 3ratda (d) qRI=T

=A@ et & Qe o g R (Ree) w1 9ga Ao
78. gTaRA

(@) @a+aRT (b) Ta+aNT () T+ IRF (d) @=ar+ aRT
79. MR

(a) faT+ 3naX (b) f&: +3 MR (c) for+ e (d) AR +3ma™

iR e 3 v 3T & W Reew w1 w7w Hifvre:

80. HHaA
(a) §P (b) (c) ¥ (d) &
feafaf@a sgede 98 3R gaai(nea 81 @ 85 a% ) T S@@ |
fArafaf@a e A gew qB v el § v 3ugwd faweu gEav-

AT egeRtorelier 9ot B e g & ANl @ ud wgwdl @ 9 di@ar g
el Jes7 i gafa = €, 3u% w@enfas qor w2 §, suer Afaw, smenfors 3R
wafos AT & & e Rwr & sefr 3feRRr 8, s @l aral & e &
@dhr wafa @ glar g1 Rl Heraew @ wue ¢ R 9 R e A @ geew
AT & o 3P JEI F ¢WAT difeC| Fd: 38F TN Fia §, AT il §, su@ &
3udr aR=y fAear & guafa s O urEAor & S Sie @ o |ier wee
EHAT W Bl el & HAT el A IWUrH & ge7 o i g 9§l gy &
Y gl o 3 Ao # fawar BiSe #r 48 afE Y 93 W 9 At a7 aceror e
Sean| afE FERT § FEr §g AT & Jg@ A R Ar 98 Soordanior aelei (g T

T Fecdl ¢l
81. HTST I TR F1 Fgl ¥ W@ 572

(a) wﬁr;-’r_ (b) AT & (c) 3Uat SagR & (d) 379« SfiaaT &

82. HIST T ol g7

(a) 3reaTfcAs (VGIGED (c) rTeRoniTer (d) =Tl
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83. gHI UREATT & FAE Ft §7? |
(a) i 3EA a7 M reoT T ST § (b) TE ANE & AT T Sl &
(c) 389 afFa A=A Foial & (d) TF =afFa & @Hg Far Sl &

84. HBIGIY fhE HATH T 3eTe0T 87

(a) 3rcTireTd @A (b)'a?gwwm

(c) FHURT FATH (d) efasy A
85. ‘HETR 'FT HT IY 87 |

(a) BT TeARE arell (b) | FH FI AT

() |y Uge arelm - (d) I1T @R arer
YT W F I3 Re v [Fedt & @ sRa Beew 94
86. [T # A AT usg FIAR' Usg H YIS dAal o |

@ Mg (b) oF () SOd (d) T
87. v & ¥ Flevar Usq ‘GT AUsq H WAGATN 6T &

(@) AcHA (b) @& (c) ¢coI&d (d) UrEr
88. ‘'&¢' WUsq H fASH w9 €

(@) e (b) faers (c) TAsaT (d =&Y
89. ‘'ditica ' weg H AAH & &

(@) @&T (b) =& ¢ RwEr (d) e
o=t gl /ereg W & fow Rw 71e Reeui # @ 3Ra aeg 71 999 X
90. TS TTgar aTel. _

(@) feadr (b) TRfaa () &I (d) R
91. GEY X A UA S F FAG M.

(a) fa (b) fEaE (c) 3mara (d) g
92. gl Ugdr & S

(@ 39Fa b) fRER (¢ 3w (d) I
TiF T T F e el & PR wwel 1 gt # 1 edatya w6 Reedt F
- R wv wd sgEd w1 oawT F
93. Irafadl g YN/ ART/R FUREAT

A B 3] D
(a) BADC (b) ABCD (c/ DCBA (d) BACD
94. S HRAT AT H/ TATAT Wi/ ARAIEhhRIET Frardy weiiliais v e/
A B C D
(a) ABCD (b) BADC (c) ACDB (d) DCAB

ffw v geel i v o F Wy Reew w RAfFgaa w1
95. (a)3Hdlar (b) THAAT (c) SHhalar (d) VHAr
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96. (T (b)ITE (o) ¥JIUT  (d) TIE
Rea v R & Qv sugsa Rwew 94
97. g &S gt arel
@ &= (b)  araTe (c) &wEER - (d)
98. gEU #I ardl H g@ &
(@) IEER (b)) IfEE (o) fead (d)

Tel® Wee & 3 BT o el # ¥ 3R Reew #1939 fifaw:

99. %7 & A FITAT A I 'H TATIATE e o7
(a) gHr (b) 3/ (c) AT
100. fAe=1 & & i@ Ueg BROT &7 gATIATT G 82

(@ (o) FT (c) 3

(d) &F&m

(d) GReT
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101.

Which  figure among the four
alternatives A, B, C and D wolld

replace the question mark in figure ‘X'?

2 o /el A, B, C duT D & & &l
i X A gearas e 7 & T
g3 3TUEfr ?

102.

Find out the figure which does not

belong to the group of other figures.

39 AT F GRT S IR AHA-THE §
Haftd gl & |




*[103. [ Find the missing number in the number | 3/ $r T H HEer F FE T IF A

series given below:- glex |

06, 11, 21, 36, 56,-7

(A) 42
(B) 51
(C) 81
(D) 91

104. | Find the missing number that has same | I & IR TE&AT A@aT 7 19 FEAT F S
relation to 26 as 37 has to 19. FEy 37 & 91U £ | O 36N & IUR W
26 TEaT ¥ AT ? TuE W RGP v et
AV T @ T arer Reew gem ?

19:37::260%7
(A) 52
(B) 51
(C) 46
(D) 43

105. | If you see the problem figure in the | af& 3t X’ T edoT 7 @ ST A 3HH
mirror, which figure out of the four | Sfafswer & -y IR HpfaT A, B, C T
figures A, B, C, and D will be the mirror | D & & f&h T & THT g1 2

image of figure ‘X'.




106. | Choose the word which is least like the | 38 ¥eg HI Ifad ST qEY ereal & THg &
other words in the group. AT el @rar g |
(A) PICTURE
(B) POSTER
(C) BOOK

(D) SCENERY

107. | Which of the following diagram indicates | &9 @& aiv f*y & & sla @ Ry a9,
the best relation between Travelers, | {o9TSI TUT & & HEY &H 3cad &7 &
Train and Bus? ofar & ?

o ¥ o ©

A iig c D

108. |If CAR is to PETROL then|CAR & Sl €99 PETROL & ¥ g §eY
TELEVISION is to___. TELEVISION =1 & Y g |

(A) ANTENNA

(B) TRANSMISSION
(C) ENTERTAINMENT
(D) ELECTRICITY




109. | Which figure among the four figures A, | & 1% X’ HEHA A F 7 WA W & T
B, C and D would replace the question faedl A, B, C @1 D & & &l W faswew
mark in figure X'? 3”fﬁ| e 2
B C D
110. | A class of boys stands in a single line. | T& &8&TT & STerch HEl FTgeT # @3 g 3R

One boy is nineteenth in order from | & T ASHT Mgl F 2 AT ¥ I=ad
both the ends. How many boys are | TUI W WsT &l SISV FHall # fras os®

there in the class?

27

(A)
(B)
(©)
(D)




111,

If you fold the transparent paper along

the dotted line Figure ‘X' which
alternative figure from A, B, C and D

would you get?

TR TR IR W @ X HGA A g
@ F YR W AT A @ g & 70 Fy
e Ffad A, B, C dur D & A

gt 2

X A

B c D

112. |If SCHOOL is to EDUCATION then | SCHOOL & Sit He&f EDUCATION @& ¥
BANK isto ___ ? ger §etr BANK &7 fhg @ glom ?
(A) ATM
(B) CHEQUE
(C) LOAN
(D) LOCKER
113. | If the given word is seen in mirror, | RY T oreg #r IR zdor & & aF A
which alternative would resemble its | are feedt # & 58 & gFE= 'em 2
mirror image?
SHARE
(A)  3AAH2 (B) 3JRAH2
(®) JAHAZ (D) d2AH2




114. | Choose the alternative that resembles | It & 1w we&ar s@em & I i A
the water image of the given alpha - | 2@r ST & 3@ fafers Y 7w et

numeric series below:- A By & g @s & 2
HR26420
(A) OSBhSAH (B) HY3e430
) OShesHH (D)  HBSessO

115. | Choose the word which is least like the | 38 g #t Ifad ST g@X Ul & T &
other words in the group. AT el @rar |

(A) EARTH
(B) SUN
(C) MERCURY

(D) JUPITER

116. |Which figure among the four | @& 71T fAsFedl A, B, C duT D # & &l

alternatives A, B, C and D would | H'Tﬁ X & s Reg '? & e

replace the question mark in figure X? W3 ?

NS g AR




117. | If all directions are rotated clockwise by | afg @Ry feemsit #r udr $ir f=r & 90° &
90° angle i.e North is changed to West, | @ & gar fear e, S R - 3R #
East to North and to on, then what will | 9R9#, Id &I 3caX Fa1 fe=m ST, & 3eadr
come in place of North West? gfRas feem $ir s Fladr e 3mweh 2

(A) SOUTH - WEST
(B) NORTH- EAST
(C) SOUTH - EAST

(D) EAST - WEST

118. | Choose the word which can be formed | @2 717 RFeal & @ Fla @ RFeT
from the given word :- T Irar oeg ST AT g ?
INFRASTRUCTURE

(A) RUPTURE
(B) SCULPTURE
(C) FRACTURE
(D) VULTURE

119. | If you see the problem figure in the | I 3mehfer X’ &t gdor 3 @r ST A FgaT
mirror along the dotted line, which figure | Yfafsw= &1 = O At A, B, C, D
out of the four figures A, B, C and D | IR fa&cdl & @ 9 & & A 89T ?

will be the mirror image of figure ‘X'




—
N
7

—
D|E=R|¢
— | —

B Cc D

120.

Choose the word which is least like the

other words in the group.

39 Ueg gAY S gEY wea F wep o
A AT Wi B |

(A) STUDENT
(B) LAWYER

(C) MECHANIC
(D) ENGINEER

121.

If you see the problem figure 'X' in the
mirror, which figure out of the four
figures A, B, C and D will be the mirror

image of it.

afe X’ 3T Y gdor 7 @r ST A IHE
sfafass & 3Rl o) pfet A, B, C T
D fasedl & @ v & & wAW ghm ?

I 5

e

o lolo |




22. WY e il ,
1 2 If “+' means "T " +' means - L zlﬁ (] a_-h- I-:-!' =1 a# l-l, s a_—’}- |x m

means ‘X’ and X’ means ‘+’, then what | X & ‘+, fa@r Je, a9 Jr & iy
would be the answer of the equation? | FHIERUT & 3cak F4T BRI ?

12+6 T3-2x8=

(A) -2
(B) 2
(C) 4
(D) 8

123. | Figure ‘X’ is embedded in any one of | @it feT arw ecdf A, B,C IR D AR
the four alternative figures A, B, C or | fFdll T fased & 3eX X' Jrepfer fowdr gé
D. Find the alternative which contains | ¥ | 38 feq @1 glev st X Eican]
figure X’ as its part. ey T T A7 B §é g

| | BRI X

10




124,

If **' means X' , X’ means ‘+, “+'|AR ‘“F F K, X FrH, + F I

means - and ‘-~ means ‘¥, then what | #r &+ oy AT, a9 A & Y sEdeeT
would be the answer of the equation? | g 3ed] FT BT ?

(A)
(B)
(C)
(D)

16x3+5-2+4=27

9
10
19
None of these

125.

Nitin ranks eighteenth from the top in a | @fae 49 s=dl & Fam F 3R T W

| class of 49 students. What is his rank | §1 37T & 39T €U 9T 891 2
from the last ?

(A)
(B)
(©)
(D)

18
19
31
32

11
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